B

BUILDING SYSTEMS |

S & ENGINEERING

TABLE OF CONTENTS

ATO0010 — Rafter to Flange — Both Sides of Column ... 2
AT0020 — Rafter to Flange — One Side of Column ............cooeiiiiiiiiiiiicccrr e, 3
ATO0030 — Ridge Connection at Column FIanges........cccccoeeieeeiiiiiieiieecceee e 4
ATO0040 — Low Eave at Column Flange With Clip.......ccccoveiiiiiiiiiiiccie e 5
ATO0050 — High Eave at Column Flange With Clip......ccccooeiiiiiiiiiiiicee e 6
ATO0060 — Rafter to Web — Both Sides of Column............cooooiiiiiiiiiii e 7
ATO0070 — Rafter to Web — One Side of Column .........ccoooiiiiiiiiiiiiec e 8
ATO0080 — Ridge Connection at Column Web ... 9
AT0090 — Low Eave at Column Web With Clp .........cooiiiiiiii e 10
ATO0100 — High Eave at Column Web With Clip.........ouviiiiiiii e 11
ATO0110 — Low Eave at Column Web with Stub ...........ccccoiiiiiiiiii 12
AT0120 — High Eave at Column Web with Stub ..........cccooiiiiiiiiii 13

4121



m—

HI_IC:UF!

BUILDING SYSTEMS |

AT0010 — RAFTER TO FLANGE — BOTH SIDES OF COLUMN

CLIP MZBC (NS & FS) NOTE:

USE (D) 3/4” X 3" .
A325 BOLTS/NUTS RAFTER A\ —~—-— 3/4” WASHERS
I'2"

REQUIRED OVER
7 ALL SLOTS.

~

/ CLIP MZBG (NS & FS)
USE (H) 3/4” X 3" VIEW A
A325 BOLTS/NUTS —_—
R

AFTER 7 /\/
COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO FLANGE OF FULL HEIGHT COLUMN ( ATOO1 0 )

DATE: 02/16/15

BY: AK_CHK: EGB AT0010.DWG 4.12.2

LAST REVISION DETAIL NAME IF APPLICABLE ‘



dtls/at0010.dwg

BUILDING SYSTEMS |

1 r—— \‘ |
‘ NUCOR |\ |

3/4" WASHERS
REQUIRED OVER

ALL SLOTS.
ﬁv
J;_w_&
2’, 2,,
[}
3 3/4" !
CLIP MZBD (NS & FS) AQ/
USE (E) 3/4" X 3 VIEW  "A”
A325 BOLTS/NUTS

N
COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO FLANGE OF FULL HEIGHT COLUMN ( ATOOZO )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 4.12.3

BY: _AK CHK:_EGB AT0020.DWG



dtls/at0020.dwg

m—

[moces] & ENGINEERING MA

AT0030 — RIDGE CONNECTION AT COLUMN FLANGES

CLIP MZBC (NS & FS) CLIP MZBF (NS & FS) NOTE:

USE (D) 3/4” X 3 USE (G) 3/4” X 3” .
3/4” WASHERS
A325 BOLTS/NUTS A325 BOLTS/NUTS REQUIRED. OVER

ALL SLOTS.

| 3 3/4” |

{ F VIEW A

AFTER 7 /\/
COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO FLANGE OF FULL HEIGHT COLUMN ( ATOO3O )

DATE: 02/16/15

BY: AK CHK: EGB AT0030.DWG 412.4

LAST REVISION DETAIL NAME IF APPLICABLE ‘



dtls/at0030.dwg

—

[Mucor) E R

BUILDING SYSTEMS |

AT0040 — LOW EAVE AT COLUMN FLANGE WITH CLIP

USE (4) 1/2” X 2" A325
BOLTS /NUTS NOTE:

3/4” WASHERS
REQUIRED OVER
ALL SLOTS.

CLIP
MK. GXCC
o)
3 3/4” |
G
CLIP MZBE (NS & FS)
STEEL USE (F) 3/4" X 3" VIEW “A”
TLINE A325 BOLTS/NUTS -

A
COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO FLANGE OF FULL HEIGHT COLUMN ( ATOO4O )

DATE: 02/16/15

BY: AK CHK: EGB AT0040.DWG 4.12.5

LAST REVISION DETAIL NAME IF APPLICABLE ‘



dtls/at0040.dwg

—

HI_IC:GF!

BUILDING SYSTEMS |

AT0050 — HIGH EAVE AT COLUMN FLANGE WITH CLIP

CLIP MZBC (NS & FS) cLIP NOTE:

USE (D) 3/4” X 3" MK. GXC G .

A325 BOLTS/NUTS A —-— ééguw\év?DSHoE\i:SR
ALL SLOTS.

]
A
E
_$_ 1
’-QP:P/ USE (2) H x
% A325 BOLTS/NUTS

?

l 3 3/4”
F

_— STEEL VIEW A
LINE —
RAFTER /\/
COLUMN —

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO FLANGE OF FULL HEIGHT COLUMN ( ATOO5O )

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB AT0050.DWG

4.12.6



dtls/at0050.dwg

Hu:::u:z ‘

‘ BUILDING SYSTEMS \

CLP MZBC (NS & FS)
USE (D) 3/4” X 3
A325 BOLTS/NUTS

RAFTER

NOTE.:

A<: 3/4” WASHERS
REQUIRED OVER

RAFFL ALL SLOTS.

l<—CLIP MZBF (NS & FS)

USE (G) 3/4” X 3" |
A325 BOLTS/NUTS

A

SRR
e Raha

NO BOLT

REQUIRED —p—

AT THIS

LOCATION -
3 3/4" 4
YR, |

COLUMN

VIEW A"

ERECTION BOLT PROVIDED TO ALLOW
INDEPENDENT SETTING OF RAFTERS. NO ROOF
LOADS SHALL BE APPLIED TO RAFTERS UNTIL
ALL BOLTS ARE IN PLACE & TIGHTENED.

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN

(_AT0060 )

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15

BY: AK CHK: EGB AT0060.DWG

4.12.7


dtls/at0060.dwg

roses & ENGINEERING

AT0070 — RAFTER TO WEB — ONE SIDE OF COLUMN

3/4" WASHERS
REQUIRED OVER
ALL SLOTS.

—1©

——CLIP MZBD (NS & FS) o7l o
USE (E) 3/4” X 3"
A325 BOLTS/NUTS
3 3/4” ,I /\/

TYP. |

—

VIEW "A”

COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN ( ATOO?O )

DATE: 02/16/15
BY: _AK CHK:_EGB AT0070.DWG

LAST REVISION DETAIL NAME IF APPLICABLE ‘
4.12.8



dtls/at0070.dwg

Hu:::u:z ‘

‘ BUILDING SYSTEMS \

AT0080 — RIDGE CONNECTION AT COLUMN WEB

NOTE:

CLIP MZBC (NS & FS) 3/4" WASHERS

USE (D) 3/4” X 3" REQUIRED OVER
A325 BOLTS/NUTS ALL SLOTS.
RAFTER A— /\/
=1
é Y E\' =1t
B . == T
8 % - W &
~p-
NO BOLT | $ Kol
REQU'RED — \ 2:; 2u
AT THIS A\ CLIP MZBF (NS & FS)
LOCATION USE » g i
. (G) 3/4” X 3
3 3/4" ] A325 BOLTS/NUTS /\,
TYP.
— \ VIEW "A”

ERECTION BOLT PROVIDED TO ALLOW
INDEPENDENT SETTING OF RAFTERS. NO ROOF
LOADS SHALL BE APPLIED TO RAFTERS UNTIL
ALL BOLTS ARE IN PLACE & TIGHTENED.

COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN C ATOO8O )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 4.12.9

BY: AK CHK: EGB AT0080.DWG



dtls/at0080.dwg

—

e
‘ NUCOR ‘ = #R
BUILDING SYSTEMS | B

3/4" WASHERS
REQUIRED OVER
ALL SLOTS.

0" 3 3/4 -

TYP. |

‘ I |<——CLIP MZBF (NS & FS) |l 57
USE (G) 3/4” X 3"
. A325 BOLTS/NUTS

—

VIEW "A”

COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN ( ATOOQO )

DATE: 02/16/15

BY: AK CHK: EGB AT0090.DWG 4.12.10

LAST REVISION DETAIL NAME IF APPLICABLE ‘



dtls/at0090.dwg

Gl PRODUCT & ENGINEERIN

NOTE:

CLIP MZBC (NS & FS)
USE (D) 3/4” X 3"
A325 BOLTS/NUTS

3/4" WASHERS
REQUIRED OVER
ALL SLOTS.

CcLIP
MK. GXCF |

| ad e

|
2"f2"
c \
VIEW A"
STEEL —
LINE

COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN C AT01 OO )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 41211

BY: _AK CHK:_EGB AT0100.DWG



dtls/at0100.dwg

Hu:::u:z ‘

‘ BUILDING SYSTEMS \

AT0110 — LOW EAVE AT COLUMN WEB WITH STUB

NOTE:
CLIP MZBD (NS & FS) A ~a— 3/4" WASHERS
USE (E) 3/4” X 3 REQUIRED OVER
A325 BOLTS/NUTS RAFTER ALL SLOTS.
RAFTER
1
/ F
! & ﬂ n
| '~ CLIP MZBG (NS & FS)
NO BOLT o g
REQUIRED —p— USE (H) 3/4" X 3 | $ $
| AT THIS A325 BOLTS/NUTS 2”2
3 3/411 | i N
TYP' ” ”
— VIEW A
/ C
‘ ERECTION BOLT PROVIDED TO ALLOW
STEEL INDEPENDENT SETTING OF RAFTERS. NO ROOF
TNE LOADS SHALL BE APPLIED TO RAFTERS UNTIL
ALL BOLTS ARE IN PLACE & TIGHTENED.
COLUMN

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN ( ATO1 10 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 41212
BY: AK CHK: EGB AT0110.DWG



dtls/at0110.dwg

Hu:::u:z ‘

‘ BUILDING SYSTEMS \

AT0120 — HIGH EAVE AT COLUMN WEB WITH STUB

NOTE:

A<: 3/4” WASHERS
REQUIRED OVER

RAWZ ALL SLOTS.

CLIP MZBC (NS & FS)
USE (D) 3/4” X 3"
A325 BOLTS/NUTS

RAFTER

8 l~—CLIP MZBF (NS & FS)

NO BOLT » .

REQUIRED —p— USE (G) 3/4" X 3 | $ $

AT THIS A325 BOLTS/NUTS 2”12

LOCATION ; —_—l
3 3/4"—] /\/
TYP' ” ”

/ VIEW A

ERECTION BOLT PROVIDED TO ALLOW
INDEPENDENT SETTING OF RAFTERS. NO ROOF
LOADS SHALL BE APPLIED TO RAFTERS UNTIL
COLUMN ALL BOLTS ARE IN PLACE & TIGHTENED.

AUXILIARY RAFTER CONNECTION DETAIL

RAFTER TO WEB OF FULL HEIGHT COLUMN C ATO1 20 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15 41213
BY: AK CHK: EGB AT0120.DWG



dtls/at0120.dwg

	Table of Contents
	AT0010 – Rafter to Flange – Both Sides of Column
	AT0020 – Rafter to Flange – One Side of Column
	AT0030 – Ridge Connection at Column Flanges
	AT0040 – Low Eave at Column Flange with Clip
	AT0050 – High Eave at Column Flange with Clip
	AT0060 – Rafter to Web – Both Sides of Column
	AT0070 – Rafter to Web – One Side of Column
	AT0080 – Ridge Connection at Column Web
	AT0090 – Low Eave at Column Web with Clip
	AT0100 – High Eave at Column Web with Clip
	AT0110 – Low Eave at Column Web with Stub
	AT0120 – High Eave at Column Web with Stub


